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4 1- Factors of 5x2 - 17xy - 12y? are

(5x - 4y).(x + 3y) (D) (x - 4y),(5x + 3y) (C)
2- In a parallelogram diagonals intersect
eath other in the ratio

1:1 (D) 1:3 (C)
3. A triangle having two sides congruent is called
rightangled /=% (B)
| isosceles uﬁ;w igst* (D)

4-1f (x-1,y+1)=(0,0), then (x, y) is equal to

-1.-1) (O) (1,1 ©)
5. H.C.F.of a+b3 and a2-ab+Db? is
a2+ b2 (D) (@a-b) (C)
6. Bisection means to divide into equal parts.
' 2 (D) 3 (©)
7- Aray has end point/points.
4 (D) 3 (©)
" 8- The order of matrix [2 1] is
2-by-2 (D) 1-by-1 (C)
9- logy,a x logcb can be written as
logy,c (D) ' log ,b (©)
10- Mid-point of the points (2,-2) and (-2,2)is
(1,1 @) 0.0 ©
11- x=______is asolution of the inequality—2 <X < E
2 D) 0 (C)
2 (

12- 1f a,be R, then only one of a=bora<bora>b
holds, it is called as
transitive property ==lbecs” (B)
multiplicative property =td/ (D)
13- (4x+3y-2) isan algebraic
inequality .:.L-t/ﬁf (D)

14- Equality of two ratios is called

similar ~& (D) proportion «~t (C)
15- Similar figures have same

size 7L (D) perimetrs bb! (C)
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equation =tt- (C)
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el Bx2 - 17xy - 12y% -1 -1
(x - 4y),(5x - 3y) (B)  (x+4y),(5x+ 3y) (A
_uzi_/ 'c_.\:w"v(__, )/4-/‘» L 73 L -2
2:1 (B) 1:4 (A
A st S st 90 L e I 23
scalene LWi¥ (A)
. equilateral {usuig+ (C)
—e s (%, Y) Ix -1y )= (o, D))’; -4
(-1.1) (B) 1,-1 A
~&g f’i;tp{ a2_ab+b2 s a®+b3 -5
a2 -ab+b2 (B) a+b (A)
b t/(:"’l):uﬁ,:u PR sp el s -6
4 (B) 5 (A
BRI Tl CIKLLAL -7
2 (B) 1 A
-& 082 1] b -8
1-by-2 (B) 2-by-1 (A)
..q..l:ﬂ'l? 0 { log,ax log b -9
logca (B) log_c (A)
o Sidn (-2,2) 41 (2,-2) 8 10
(-2,-2) (B) 2,2 A
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_q.c}':K:,:JZ.—2<x4% el g X =

3 (B -5 (A)

a>blLa<bla=b J/ 4 a,beR.J-12

..d..(jil‘.f - ?x =)

trichotomy property .::f::'t&JLb‘ (A)

additive property =64 (C)
e GAhfiaxr3y-2) 13

sentence # (B) expression M (A)
-Lﬁg ____:(L}wdl.(:;dc-u;‘.jv 14

inverse Jﬁ’ (B) ratio =’ (A)
gat_J.w.u U JEIEE 15

shape J‘5 (B) area . (A)
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2- Write short answers to any SIX questions:
i- Define square matrix.

, 2 3
ii- Find the transpose of the matrix E = [ } :

~4 5
iii- Simplify: ?J%

iv- Write real and imaginary parts of the number -2 - 2i.
v- Express 0.0074 in scientific notation.

vi- Find the value of x when 10g64 g==

2 i +6
S(x+y)

vii- Evaluate:

if x=-4, y=9

-1
Jg+1

ix- Factorize: 5x2 - 16x - 21

viii- Rationalize the denominator:

3- Write short answers to any SIX questions:
i- Define L.C.M.
ii- Solve the equation 3/3x+5 = Yx—1
ii- Solve: [3x-5]=
iv- Find the value of m and ¢ of 2x+3y-1=0 by
expressing it in the form of y =mx +c.
v- Define cartesian plane.
vi- Find the distance between the points A(9, 2), B(7,2).
vii- Define scalene triangle.
viii- State S.A.S. postulate.
ix- One angle of a parallelogram is 130°. Find the measures

of its remaining angles.
4- Write short answers to any SIX questions:
- If CD is right bisector of line segment AB ,
then mOA =
mAQ=__ A
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ii- If 13 e¢m, 12 cm, and 5 cm are lengths of a triangle then
’ verify that difference of measures of any two sides of a
triangle is less than the measure of third side.
iii- Define a proportion.
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iv- What is meant by pythagorus theorm.

* v- Verify that triangle having measure of a sides is right

angled triangle: a=9cm, b=12cm,
vi- Define interior of a triangle.

vii- Find the area of a given figure.

viii- Constructa A ABC in which

sty Vea bl v
ot § eds NG SE G P
c=15cm a=9cm, b=12cm, ¢=15¢cm
, Ef S Lk i
; ek PIS i
10em
16em
Uk A ABC  vii
mAB = 3.2cm, mBC= 42cm, mCA=52cm
-g':-.é,fjgf}g‘auﬂﬁw ~ix

- ix- Define incentre of the triangle.

(A8 Lszpm A8 LIy ) Sectionll (2 o

(a) Solve the system of linear equations by Cramer's rule:
3x-2y=-86
S5x -2y =-10
e
5)2

1216)3 x (25)

(b) Simplify: —
(0.04) 2
(a) Use log table to find the value of
0.678 x 9.01
0.0234

(b) If x+y+z=12and x?+y?+22 =64, then find

the value of xy + yz + zx.

(a) ¥ (x-1)is afactor of x°-kx?+ 11x -6, then find the _

value of k.
(b) Use division method to find the square root of
4x +12x3 + x2 - 12x + 4
(8) Solve the equation:
2 11
21 x+1 x+1
(b) Constructthe A PQR. Also draw its altitudes:

ey LSS ui 256 () -5
3x-2y=-6
5x -2y =-10

| “
!

\,(215)? x (25)2

s (2

=3
(0.04) 2
.’é.fr}”..:.é' Py dldug fé’fsf () -6
0.678 x 9.01
0.0234
X2+y2+72=64 s x+y+z=12 ) (o)
C Epei yryzezxin
K x5 - kx? + 11x—6(}')/§({x—-1)ff
e i kil Az
¥ axt+ 123+ x2 - 12x + 4 L2
5 B e
_ ZE S el (L) -8
2 1 1
= —_ {—]
x“=1 x+1 x+1
EESEGA) f L 1.1 POR &b ()

(3 -7

(<)

mf’a = 6cm, mQ_R= 4.5cm, mPR =55cm

Prove that any point on the right bisector of a line
segment is equidistant from its end points.
OR
Prove that the triangles on the same base and of the same
(i.e. equal) altitudes are equal in area.
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1-  1- In a parallelogram oppos:te angles are ~Ulx & sls A LE wo it $ 3152 -1-1

non-congruent U4 (D)
2- The capacity 'c' of an elevator is at most
1600 pounds, then

concurrent Juf(' (C)

parallel (i1 (B) con/gﬁ.lent S (A)

5 F3L1800 sliensks ¢ bt (E 1y S LT 2
/

<1600 (B)

¢ 21600 (D) ¢>1600 (c) ¢ <1600 (A)
3- The sign of ratio is , ;{_ cbfer 3
I (D) 12 (C) :/(8) = (A
4- Mid-point of the points (2, 2) and (0, 0)is ____ - EQn¥ (0,0) 4 (2,2) 46 -4
(-1,-1) (D) 0,1) (©) (1,0) (B) (1.1 A
5- loge= where (¢ = 2.718) (e~2.718) £ =loge-5
0.4343 (D) 1 (C) /[ 0 (B) 0 (A)
6- The medians of a triangle cut each other ,u’d..fd"gﬂ ._»«’d’ fr._/» .ﬁg.uw Lels 8
in the ratio
1:1 (D) 251 (C) 3:1 (B) 4:1 (A)
9 %
7- Eﬂ:g is equal to - ils aa:: -7
a+b (D) a-b (C) a’-b? (B) (a-b? (A
2 1 2 1
8- Orderof transposeof [0 1| is ce a6 L0 1| b -8
3 2 ‘ 3 2
3-by-1 (D) 1-by-3 (C) 2-by-3 (B) 3-by-2 (A)

9- Factors of 5x° ~ 17xy - 12y are

(Sx - 4y).(x + 3y) (D) (x - 4y),(5x - 3y) (C)
10- Which ordered pair statisfies the equation y =2x ?
(0. 1) (D) (2.2) (©)
11- The region enclosed by the bounding lines of a closed
figure is called
width i’z (D) length JU/ (C)
12- What should be added to complete the square of x# + 647

4x2 (D) 16x2 (C)
. -l
13- (gj LR
16
4 )
5 O 3 ©
14- Bisection means to divide into _____ equal parts.
5 (D) 4 (C)
15- In two triangles for (1--1) correspondence
symbol used is
~ (D) ©

14-(I11)-119-103000
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2. Write short answers to any SIX questions: (2x6=12) _égfuiﬂi/,":.uwf(ﬁ}ia-df 2
i- Define zero matrix with an example. _é..u /’/ s Je J NPLOTY
2 1 2 .
ii- If A= [:) 1] then verify that (Aht=A (A‘)t =A Sk A= [O l} S i
iii- Define terminating decimal fractions. P S Frgesi i B il
. | -
=Y o N TR 8 \3 ;
iv- Simplify [%] 3 by using laws of indices. -’:f.l':/“"x;.u Jc,r.'l;’ﬁ Vs (12—5] -V
v- Find the value of x in log,x =5 _,2-._-,"31”_"_,3 Sx logx=5 -v
vi- Express 9.018 x 107% in ordinary notation. -z:'fut r‘i} (lu" 9.018x 10“._S -vi
3 . ¢ W58 s
vii- Express 7 128 in the simplest form. _,gﬂ,c‘ﬁq,/l'fz 128 A vii
in s o i
viii- Define polynomial with an example. -’jd.f._s;://;: Je @A i
ix- Factorize: 1442 + 24a + 1 _g’l_'df S 14422 + 242+ 1 _ix
3- Write short answers to any SIX questions: (2x6=12) -,égf..—.uzﬁ:’ﬁamr(s)ga.df -3

i- Find H.C.F. of 91x5y®z7 and 39x7y3z.
i- Solve:  /3x+4 =2
- Solve: 15;3“2;-4:11

iv- Find the value of 'm' and 'c' of the line x -2y =~2 by
expressing it in the form of y=mx +c.
v- Verify whether the point (0, 0) lies on the line
2x-y+1=0 ornot
vi- Find the distance between pair of points A(9,2) and B(7,2).
vii- Find the mid-point of the line segment joining A(-8,1)
and B(6,1)
viii- Define S.S.S. postulate.
ix- One angle of a parallelogram is 130°. Find measure of its

remaining angles.

4- Write short answers to any SIX questions: (2x6=12)
i- If CD is right bisector of line segment A3, then 1
s A
find mOA and mAQ +C

2 Hi ¢ 39x7y3z 0 91x5yB27 i
oy SEJIx+4=2 i

-"f—“‘:(’t”-‘-{fhf%|3x+2§~—4=]] -iii

ALty = mx+cd x-2y=-2=bls -iv
..2’.;(:1” Jbr 'Ca'm s Ll /F
£2x-y+1=0 U (0, O)qu’("r -V
_J"L < VF
gLl B(7,2) 4 AQ2) B i
¥ &Lt & e B(6,1) s A(-8,1) bEs: vl
S 5 Qs
B s K LSS v
U Bloe 130° i LK QWi _ix
g yied
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ii- Explain that the given lengths can be the sides
ofatriangleornot: 2cm, 4cm, 7cm

u:’f;_&cbdb\:,ﬁc.ufu&rd)f&{:»bs -ii

2 ¢cm, 4 cm, 7 cm

iii- Define congruent triangles. G U — oAl i
(&1 J=2—15
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iv- Find the value of x in the given figure :

:ér}”;-é- S x ut?()'a‘L:‘( ) iv

_ J2em
X
lem
V- Verify that the triangle having following sides is a B PV ORI ( N S IO =y SV R

rightangled: a=9cm, b=12cm, ¢=15 cm.
vi- Find the area of the given figure:

10cm

a=9cm, b=12ecm, c¢=15¢cm

Sk PG i

16cm

vii- Define rectangular region.
viii- Construct A ABC in which

P ki i

L4 ABC & _viii

mAB=48cm; mBC=37cm, m<B=60°

ix- Define orthocentre.

-ESSED Lot i

(U!f.} 457 pu A8 ZJv ) section II (13 oo

5- (a) Solve by using matrix inversion method:
2x+y=3 ; Bx + 5y =1

azﬁf q2m { q2M
(b) Simplify: ;{:,H ;HI; tl;:?

1
7- (a) Factorize: x4+ =3

X
(b) Find the square root by division method:
4x*+12x3+x2 _12x + 4

?—le

8- (a) Solve the inequality: 3z

(b) Constructthe A ABC and draw bisectors of its angles:
mAB = 45cm, mBC= 3.1cm,

)

- S u U/u'!c'f_ufﬁ' () 5
2x+y=3 . 6x+5y=1

) a2f ] a2m aln] _
—'.‘75":/";’( af+m} annn/ ;h:-i") ()

logaE [—?J:iogam—logan Sl (L) -6

Rt x4+—1—~3 () -7
4
e i (2 (L)
4x4+12x3+ x2-12x + 4
352 = 221 P g (L) -8
CELA LU L1 £k ABC ol ()

mCA =5.2¢cm

9- Prove that any point inside an angle, equidistant from I L5 L8R i Lol shs A

its arms, is on the bisector of it.
OR

Prove that the triangles on the same base and of the
same (i.e. equal) altitudes are equal in area.
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